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General Instructions :

@)
(i)

(iii)

(iv)

All questions are compulsory.

The question paper consists of 34 questwns divided into four sections —A,
B, Cand D.

Section A contains 8 questions of 1 mark each, which are multiple choice
type questions, Section B contains 6 questions of 2 marks each, Section C
contains 10 questions of 3 marks each and Section D contains
10 questions of 4 marks each.

Use of calculators is not permitted.

g A
SECTIONA -

777 FEA 1 98 aF TIF T 1 9% w7 8 | Jo7 G 18 8 8 I 37 & g AR
ey 2w 0 8, o @ 3aer v @8t 8 1 T8l fawey gAY |
Question numbers 1 to 8 carry 1 mark each. For each of the question numbers

1 to 8, four alternative choices. have been provided, of which only one is correct.
Select the correct chozce
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In a right trianglebABC, right-angled at B, BC = 12 cm and AB = 5 cm.
The radius of the circle inscribed in the triangle (in cm) is

A 4
B 3
€ 2
M) 1 |
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The probability' that a number selected at random from the numbers |
1,2, 38, ..., 15 is a multiple of 4, is

@A) 14—5 |
(B) -123
.'(C) %
D) %
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In a family of 3 ‘children, the probability of having at least one boy is
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®
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(A) 5043

| (B) 15043
©) 150v2
D) 175
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The angle of depress‘ion of a car parked on the road from the 'tpp of a
150 m high tower is 30°. The distance of the car from the tower (in
metres) is

(A) ‘50\/§

(B 15043
(C) 15042
D) 175
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A) 542

(B) 1042
5

C _—

©) 72

(D) 1043

A chord of a circle of radius 10 cm subtends a right angle at its centre.

“The length of the chord (in cm) is

(A 5v2
- (B) 1042
.
C —
© 7
(D) 1043
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"ABCD is a rectangle whose three vertices are B(4, 0), C(4, 3) and D(0, 3).

The length of one of its diagonals is

@A) 5
(B) 4
© 3
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If k 2k-1 and 2k + 1 are three consecutive terms of an A.P., the

value of k is

@ 2
7 ® 3
© -3
™ 5

8. a@wﬁgpma@mﬁwﬁaﬂ%% |3?ﬁﬁf%|§3ﬁAamBthﬁ
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(A) 30°
(B) 45°
© 60
(D) 90°

-

- Two circles touch each other extei'nally at P. AB is a common tangent to
the circles touching them at A and B. The value of £ APB is

@) 30°

B) 45°
©)  60°
D) 90°
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Question numbers 9 to 14 car}y 2 marks each.

9. < form-fir e H T @y o T | WA 7@ Hifor
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Two different dice are fo'ssed together. Find the probability
) that the number on each die is.even.

(ii) that the sum of numbers appearing on the two dice is 5.

10. ﬁ@maﬁéwwmmmzaﬁ#ﬁ% ﬁmmm
| rﬁﬁm | [n= sﬁﬁm ]
If the total surface area of a solid hemlsphere is 462 cm2 find its volume.

[ Take = ]

11. 101am999%aﬂazaﬁ15aﬁﬁmwm,é@nﬁaﬁmm
#Hifse | | |
Find the number of natural numbers between 101 and 999 which are
divisible by both 2 and 5.

12. w@ﬁrlﬁ F3 0, a1 ozaﬁaqﬁﬁwaﬁﬂawaABamCDﬁg
- mm%lﬁzmﬁsw CD.
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In Figure 1, common tangents AB and CD to the two circles with centres
0, and O, intersect at E. Prove that AB =CD. '

' Figure'l ‘
13., @mfﬁa@ﬁgﬁABCﬁmﬁAB AC 2, % i@t dier ™0 g9, gonsi
- BC, CA o AB %! waw: fagaii D, Ewpmwﬁm%lmzﬁrﬁqﬁs
BD=DC?R |

The incircle of an isosceles triangle ABC, in which AB AC, touches the
sides BC, CA and AB at D, E and F respectively. Prove that BD =DC.

14. feema afistor px (x — 3)+9 Oﬁ pw%mmﬁﬁqﬁaﬁaﬁw%
S T A
Find the value of p so that the quadratlc equation px (x — 3) + 9 = 0 has
equal roots. ,
g F
" SECTION C

mmzs g.24 aam?aem%3 F & |
Questwn ‘numbers 15 to 24 carry 3 marks each.

15. wﬁrzﬁ o%aaﬁaaé@ﬁaqa%ﬁmﬁﬁqulatﬁwmﬁm%l
‘ﬂﬁLAOB 60° 2, zﬁwmmam«%awmvﬁﬁm[n sﬁﬁm]
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16.

17.

18.
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In Figure 2, tWo concentricvcircles‘ with centre O, have radii 21 cm and

42 cm. If £ AOB = 60°, find the area of the shaded region. [Use n = 27%]'

Figure 2

7%@@@%@mmﬁﬁ®@éa@ﬁmmw | AY
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The largest possible_ sphere is éarv_ed out of a wooden solid cube of side

7 cm. Find the volume of the wood left. [Use &t = % 1

6 . <N 3T 1.5 W, el wH TEw F g 4 Fe wfy 52 B W A 58 @
21 10 e ® w® T Fra S i e = Toh Sefe e % fag
8 Tt TR urh I TR & ?

Water in a canal, 6 m wide and 1-5 m deep, ris flowing at a ‘speed of
4 km/h. How much area will it irrigate in 10 mlnutes if 8 cm of standing
water is needed for irrigation ? _

smEft 3 #, ABCD Uh wHel R, N dwea 245 @ & # | o
AD || BC, £ DAB = 90°, AD = 10 &t @2 BC = 4 @i 2 | 3¢ ABE TF 91
1 TG 7, A SR HFT T &T6A Fid AT | (1= %Z-Fﬁﬁm]
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i
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19.

In Figure 3, ABCD is a trapezium of area 24-5 sq. cm. In it, AD || BC,
Z/DAB=90°,AD=10cm and BC=4 cm. If ABE is a quadrant of a circle,

find the area of the shaded region. [ Take 7 = 37-%]

‘D E A
. : ]

C B
Figure 3
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21.
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Find the ratio in which the line segment joining the points A(3, —3) and .
B(-2, 7) is divided by x-axis. Also find the coordinates of the point of
division. = ‘ : ' :
o st it T i, ol god 5 3, 5.5 Fft qun 65 W R | TRLUE
mﬁwﬁmﬁm,ﬁaﬁw,m@ﬁwﬁwwﬁﬁ -
3 ‘ '

5 ﬂ:ﬁ g |

Construct a triangle with sides 5 cm, 5-5 cm and 6-5 cm. Now construct

another triangle, whose sides are g times the corresponding sides of the

given | triangle.

x%mﬁw L ’ ‘ , _ ' . ,

' E-l: 15 ; x#0, -1 - v E
x x+1 , i

Solve for x :
1(—;—1='15;x¢0,—1
X x+1 i .
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The sum of the first seven terms of an AP is 182. If its 4th_ and the 17th
terms are in the ratio 1: 5, find the AP. : : ‘

V) L . ‘
B L 11 : | , P.T.O. :
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From the top of a 60 m high building, the angles of depress1on of the top
and the bottom of a tower are 45° and 60° respectively. Find the height of

the tower. [ Take +/3 = = 1-73 1

y-axaaqtagﬁngaﬁﬁqshﬁﬁﬁr—gaﬁ A4, 8) 71 B 6, 6)@@@

#@ gl AP #f T i |

Find a pomt P on the y-axis which is equidistant from the points A(4, 8)
and B(- 6, 6). Also find the distance AP.

wuEE
SECTION D
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Question numbers 25 to 34 carry 4 marks each.

25.

26.
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A motorboat whose speed in still water is 18 km/h, takes 1 hour more to
go 24 km upstream than to return downstream to the same spot. Find the
speed of the stream.

£ \

ﬁaﬁﬁqﬁsﬁ%ﬁwﬁﬁgm@ﬁ%@wﬁﬁgﬁaﬁaﬁﬁwmm
i

Prove that the tangent at any point of a circle is perpendicular to the
radius through the point of contact.
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150 spherical marbles, each of diameter 1-4 cm, are dropped in a
cylindrical vessel of diameter 7 cm containing some water, which are
completely immersed in water. Find the rise in the level of water in the

vessel.
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A _contamer open at the top, is in the form of a frustum of a cone of height -
24 cm with radii of its lower and upper circular ends as 8 cm and 20 cm

respectlvely Find the cost of milk Wh1ch can completely fill the container

at the rate of T 21 per litre. [Use n'= —]

mhﬁt@aﬁaA% 12-0#.8&3@«@3@%%,&@1%@@“
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The angle of elevation of the top of a tower at a distance of 120 m from a_
point A on the ground is 45° If the angle of elevation of the top of a
ﬂagstaff fixed at the top of the tower, at A i is 60° then find the height of
the ﬂagstaﬁ' [UseV3 =1 73] . :
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31. '

32,

33.
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In a school, students decided to plant trees in and around the school to
reduce air pollution. It was decided that the number of trees, that each
section of each class will plant, will be double of the class in which they
are studying. If there are 1 to 12 classes in the school and each class has

'?o sections, find how many trees were planted by the students Which

lue is shown in this question ?

x % foru g e
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Five cards — the ten, jack, queen, kmg and ace of dlamonds are well

shufﬂed with their faces downwards One card is then plcked up at

random.
(a)  What is the probability that the drawn card is the queen ?

()  If-the queen is drawn and put aside, and a second card is drawn,
find the probablhty that the second card is (i) an ace (ii) a queen.

R A4, 2), B(7, 6) 1 C(1L, 4) T Bs ABC % ¥d & 7o AD 3@ Byt ol

s TR 2, d@ fiag Hife e, qﬁmADﬁgaABcaﬁawém
T @ Prygei # fnfya &l 2 |

If A(4, 2), B(7, 6) and C(1, 4) are the vertices of a A ABC and AD is its
median, prove that the median AD d1v1des A ABC into two triangles of
equal areas. : :

14
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m@ﬁl4ﬁ,4ﬁtﬁﬁwm@t@§ﬁ%qﬁnﬁ@ﬁ‘ﬁwcmmdﬁ
T 2 6 Y@mavg BD 3t DC o wereat s 8 Fft qun 6 At & |y
AB 3R AC T HIfT | ' ‘

; &

5 4
In Figure 4, a triangle ABC is drawn to circumscribe a circle of radius -
4 cm, such that the segments BD and DC are of lengths 8 ¢cm and 6 cm
respectively. Find the sides AB and AC. '
; A
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